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Instruction ! Tarst 15 minutes are allotted for

the candidates to read the

question paper.
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Note : All questions are compulsory.
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) Control + P
) Control + S
M)  Control + N
") Control+ F-
Select and write the correct answer :

Sx1=5

)  Which of the following is not an

input device ?
a) Key-board
b)  Printer

¢)] Mouse

d) Joy-slick.
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Which onc of the following is an

0.8.7
a) MOD EM
b) Ink-jet

c¢) Pen drive
d)=. DOS.

Which ‘of the (ollowing is not &

hardware device ?

a) Mcmory
b) Cache
c) Excel

d) Processor.
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iv) Which of the following js , single

input logic gate ?

a) NAND
b) AND
c) NOT
d) - NOR.

Which of the following is short-cut

for 'Save' operation ?
a Contfol + P
b) Control + S
c) Control+ N

d) Control+F.
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2. Describe in briel the following: S 1=5
a) Wireless Communication
b) WAN 0t
c) WINDOWS O.S.
d) Bandwidth
e) Simplex Communication.
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Explain the following :

a) Printers

b) Mouse

c) HLL

d) Vi text editor

e) Logic Gates.
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Write abm;lt the following : 5x2=10

a) Random files

b) Library functions
c) DMP
d) Stacks

e) Directory:
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S. An}sw;:r all the parts : - 3x4=12

" a) -JWhHL\IS "Character; Representation” ?
b) Compare LINUX and WINDOWS.

c) Explain different types of Networks.
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Answer all parts : | 3xd4=12
a) What are the dilferent variables in
C-language ?
b) What are strings ? What are its
types ?
c) What are 'Generations' - of
programming languages ? Explain.
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Explain with examples.

OR

Explain the following with reference to

C-language -
a) Data types
b) Logical operators.
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Writea. 'C-language’ program, which
counts the number of words in a 'string’

and find out the word with maximum

characters. 8
OR

What are 'Searching' and ‘Sorting' ?

- Explain their technique available in

C-language.
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